' 16. (a) Factorise 2x? —x -3 L‘J‘ﬂ 09 YH
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' (b) Hence write down the solutions of 22 —x-3=0
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16. (a) Solve x'-5x+3=0
Give your solutions correct to 3 significant figures.
You must show all your working.
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13. (a) Solvex*+2x—-1=0
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Give your solutions correct to 3 significant figures.

You must show sufficient working.
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- B () Solve ¥-2y-120=0
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(Total 6 marks)

15. Solve the equation 3x*+2x—6=0
Give your answers correct to 3 significant figures.

21. (a) Solve 2x* +3x—1=0
Give your solution(s) correct to 3 significant figures.
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